ASSEMBLY INSTRUCTIONS 232ISET CHAIR
INSTRUCCIONES 232ISET SILLA
No DESCRIPTION QTY No. DESCRIPTION QTY
C | CHAIR BACK AL | ipc/picza | | | SPRING WASHER € 1/4"*11mm | 10pcs/piezas
D | SEAT FRAME & CUSHION @ Ipc/pieza (® | METAL WASHER & 1/4"*18mm| 10pcs/piezas
E | LEG =— |2pcs/piezas @ |BoLT (Jummme  ®1/4"*20%1-12" | 2pcs/piezas
BOLT (Jmmmmm ¢1/4"+20%2-5/8" | 4pcs/piezas
step 1/ paso 1 ©) DD D 1/4"*20*3-1/8" | 4pcs/piezas
(0 | woOD DOWEL ®10mm*1"L | 1pc/pieza
@ | ALLENKEY [T ®1/4*2-141 1pc/pieza

step 2 / paso 2

DO NOT TIGHTEN SCREWS UNTIL COMPLETELY ASSEMBLED !

NO APRETAR LOS TORNILLOS HASTA ARMAR COMPLET AMENTE




